ol

Ay
9

op
T8
Njo

ol

=

=
T

® utz]= 0] Z1o]7} ok



o 19 W T HEo] AR 2 =Y o, F HE] 2
2159 do oldi, a + b 9] = Totofet. (,
a, b



OO0 A6 0.6 GO®ee.o 06 6.6



4.

ok 2Yel4 DES] ol 73t

D 8 ® 12 3 16

@ 20



5. 2 I"olA LA =/BCDY W, x9 gt&?

@D 5 ® 55 ® 5.8 @ 6 ® 6.5



6. th& 1%°l4 BC//DE 7t M=% sl x o ol Atz Hat
ofof 51717




o 204 A 1+ AABC 9] WAL off, BD 9] Zoj& 2

@D 3cm ® 4cm 3 6cm @® 9cm 3B 12cm



ofzt.




e

To°

._.__.o_.o

oln

o
G

bk

= 239w
G = A

2=

1



=%,

© 906 0,06 ® 60606



@D 117° @ 118° 3 119° @ 120° B 121°



12.

ch 2 o] ABE A
0] 19] 3L Tfelat.

=ik 9



13.

the 187} 22 AABCOA x <] Ao]

£ stolet,




14.

oS oA /BAC = 90°, /AHC = 90°d o] AABC 9] Ho]=
L5HH?

D 80 ® 96 3 120 @ 135 B 150



2

TRA ARZY

O
)

15. o

_-5Cm-~ _

-

4cm

NS

E
N

® 1.25 ® 15 @ 1.75 B 2

D1



16. th Z1®lA A 1= aABC ] WiAelrh BC 9] Zol& Fstofzt

® 8.2cm @ 8.8cm ® 9.6cm

@ 10.2cm 3 10.8cm



17.

o2 ¥ 22 AABC 9]
Al AD+= £A 9] o] 540t}
AABC 9] Hol7F66 cm? A o,
AACD 9] Yol & +otofa}.




18. o3 1¥o|A AABCADFE©|tl. DES DF Q] ZolE 4, bE
ARgRE Ao 2 vebd A7 (T, LA =/D, /B=/F)

® DE = g(cm), DF = & (cm)
@ DE = b(em), DF = g(cm)
® DE = g(cm), DF = a(cm)
@ DE = b(cm), DF = a(cm)

® DE = 2b(cm), DF = 2a(cm)



19.

7t 41590 5 GAZEGo) 9. o] £ Az 0] S4o] gol
72em 9l o], 22 Mﬂoﬂsﬂ 3 Wo] ZolE aom , 2 AAZIH ] 7
#o] Zol

S bem Al oF&}F a + b 9] 327

@D 8 @ 10 ® 18 @ 32



- ABC oA aA'B'C’ & Zohs HHT
o] A2 FePst f, O - ABC & O - A’'B'C’




21. o 1%l AB//CD,EF//GC & W, x+y 2 gt27?

/'8\\

- =
WS ~~16--"

D 26 ® 27 3 28 @ 29 3 30



22. t+g J%o|A AB//DE, AE//DF ¢ o,
EF 9] Zol& Fatelat.

d

1)
\SCm’/E\\l



23. thg 197 2 BAARY ABCD o 231 A o4 ¥ BC, CD
o 2l 549 92 27HE, F e & o, x 9] 32 Fohu?

==X =~ D
//’/ NS

9cm /' dcm

4 cmy \

/ ]

/

‘O

B E C

@D 12cm @ 13cm ® 1l4cm @ 15cm ® 16cm



24. o3 O399 AZMZFY ABC oA A M 2 A
BC ¢ &4o]tt. BD = 5cm ©]2 CD =
11ecm ¥ o, AH 9] Zo|& F5foizt

5em D~ M

1lemr~

e e cm



25. o 12 B ABC O A AVHHBC SO HE O &5
H& ZAo|t}y. AF = 7cm, BE = 4cm, AC = 12cm € ©], BD ¢ AD
o] Zo]o] 27

A
R~
AR
// \\\ \\
, 7CI{1‘\\ 12\cm
\\\F \
\
\
|
|
B C
4em’E
4 32
@ 12cm @ Fom ® —em
28
@ —cm ® 0Ocm



